1) Choose the correctly spelt word.
A) Harasment B) Harrasmant

C) Harassment . D) Harresment

2) Choose the correctly spelt word.
A) Bureaucracy . B) Bureaucrecy

C) Bureaucrasy D) None of these

3) Choose the correctly spelt word.
A) Clifhanger B) Cliffhanger .

C) Fliffhenger D) Cliffhangar

A dramatic and exciting ending to an episode of a serial,
leaving the audience in suspense and anxious not to

miss the next episode.

4) Synonym of Atypical ?
A) Normal B) Fast

C) Not normal . D) Typewriter

5) Synonym of Begrudge ?
A) Slow B) To envy another's possession .

C) Sorrow D) Recover



6) Synonym of Biennial ?
A) Every two years . B) Twice in a year

C) Quickly D) Slow

7) Synonym of Circumvent ?
A) Straight B) Outwit .

C) Benefit D) Lawfully

8) Synonym of Raucous ?
A) Mild-sounding B) Confusion

C) Harsh-Sounding . D) Clean

9) Choose the correct sentence.

A) Although it was raining, but we had the picnic.
B) Although it was raining, we had the picnc.

C) Although it was raining, since we had the picnic.

D) Although it was raining, though we had the picnic.

10) Choose the correctly spelt word.
A) Deperture B) Departere

C) Depertare D) Departure



11) Synonym of Debilitate.
A) Neat and Clean B) To Weaken .

C) To Strengthen D) To Discourage

12) Synonym of Deluge
A) Dry B) Less

C) Flood . D) None of these

13) Synonym of Fetter.
A) Shackle . B) Free

C) Strengthen D) Fat

14) Synonym of Gist.

A) Elaborate B) Good
C) Essence . D) Bad
15) Synonym of Vie.

A) Compete B) Withdraw

C) Lazy D) Enjoy



16) Antonym of Wince.
A) Blench B) Cringe

C) Advance . D) Quail

17) Antonym of Swerve.
A) Straight . B) Deviate

C) Sharply D) Move

18) Antonym of Suavity.
A) Urbanity B) Polish

C) Soft D) Rude..

19) Virat's ........ brother is in Tokyo. (Fill in the blank)
A) Virat's older brother is in Tokyo.

B) Virat's elder brother is in Tokyo.

C)AandB

D) None of the above



20) Health is more preferable to wealth. (correct)
A) Health is preferable to wealth.

B) Health is more preferable than wealth.
C)AandB

D) None of the above



